R RERE A ETE

&8 D T R 254F R KR

EEL AR SR 25 5F AR B (FER26EE)
BERE EB 615A 615%
ERRE RE 3 MR 5 AR
e L 8 28 A 28A
FrRn: ! oE 5 v 5 BT
AHRBEZE—BENY [xa 2 A
B¥ (FRRERE - BHR TR 2 5 FEEITIKIE -
Eil)) HE 1 5P
hERESE R KEH 264
RE 1P
WERRERSEREEY |EE 287 A 240A
(MBERREY S D) = 6 MR 3 AT
gﬁ%ﬁriﬁiﬁ%ﬁ% - - -
FTEd IR e *El 1 IR
REHELE - BF B @ 51 106 (FRES£H) 10ME
ggﬁﬁggiznawé ggﬁﬂm7576#m -
o o IV FE1FMD26.6% IV E1FD45%
—_ 5,/% 53R
INIIRG = Sm= N E1FD20. 1% 7% 17 ]35%
ZLR 96.7% LR 95%
ZRE 1m6MAR 96.3% 1TH6MNAR 97%
AyREEE (mEsmE) 3mR 95.2% 3ER 93%
SEDHWFEE |1THE6HNAR 100% 1TH6MNAR 99%
DEIE 3ER 87.7% 3ERE 18%
i F1FELURE FHGH 1784 S 180#
ShRffeE FIZxT B4
HE 1 FHEERE 102.1% (£ 1FABEEE 90%
Mg ES 18188 87.1% |=iEESX 1##E 98.5%
mFERES 1 818 84.6% |=FEEAX1HEM 99.2%
FRHIERE R ERY AL CITTFYT 28 79.6% CIOTYT28 81%
M24F5 ARBATHT |iarg HRPABES 18 822% |HBES1H %%
L. 3Fﬁ§£{$j_ 1 AGtE MRS ES 28 95.3% MRS 28 95%
@*E;tbn'»*g’f—f) I 7|_\°U7J_>< (ﬁﬁ,ﬁj) 849%
— R A (BE)  70.1%
BCG 81.5% BCG 99%
R B REORME SMEY 798 (163 200A (1008)
. = ey iAEE 1 2[A 1 8@
2 VFTT DR SNk 203#8 250#f
. cx e |NESEE 96. 9% 100%
HEEZEBRLZFELDEIA oA o 2% 0 0%
IR EEE L 4% 38
3 0 AR DER EhRE 100% 100%
FIREIEZEBEDRE BREE 100% 100%
o A B [E 2k 37 20
TREERZOMME SMEH 902 A 2 800A
éﬁgégﬁggjgﬁ B 2914 360#
REE R B [E1 5L 4 18] 50




